

ΟΜΟΡΑΓΓΩΝ ΟΡΘΟΓΩΝΕ ΤΑΥΘΥΑ

19/ΜΗΕΟΙ/1344

ΜΒΒ 3

1.  $y = 2x^2$  at points  $(1, 2)$

Solution

$$\frac{dy}{dx} = 4x$$

$$\frac{dy}{dx} \Big|_{x=1} = 4(1) = 4$$

$$\text{so } m = \underline{4}$$

$$x_1 = 1 \quad \text{and} \quad y_1 = 2$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 4x + 2 = 0$$

∴ The equation of the tangent is  $y - 4x + 2 = 0$

For the gradient of the normal

$$m_1 m_2 = -1$$

$$4 m_2 = -1$$

$$m_2 = -\frac{1}{4}$$

$$\text{So } y - y_1 = m(x - x_1)$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y + x - 9 = 0$$

∴ The equation of the normal is  $4y + x - 9 = 0$

OMORAGON OSAFURE FAYOUB  
19/MHS01/344

2.  $y = 3x^2 - 2x$  at point  $(2, 8)$

Solution

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} \Big|_{x=2} = 6(2) - 2 = 10$$

$$\text{So } m = \underline{10}$$

$$x_1 = 2 \quad \text{and} \quad y_1 = 8$$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x + 10 = 0$$

∴ The equation of line of tangent is  $y - 10x + 10 = 0$

For the equation of line of normal

$$m_1 m_2 = -1$$

$$10 m_2 = -1$$

$$m_2 = -\frac{1}{10}$$

$$\text{So } y - y_1 = m(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y + x - 82 = 0$$

∴ The equation of line of normal is  $10y + x - 82 = 0$

OMORAGBON OSATURE FAYOUB

19/MHS 01/344

3  $y = \frac{x^3}{2}$  at point  $(-1, -\frac{1}{2})$

$$\frac{dy}{dx} = \frac{3}{2}x^2$$

$$\frac{dy}{dx} \Big|_{x=-1} = \frac{3}{2}(-1)^2 = \frac{3}{2}$$

$$m = \frac{3}{2}$$

$$(y - y_1) = m(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y - 3x - 2 = 0$$

Equation of line of tangent =  $2y - 3x - 2 = 0$

$$m_1 m_2 = -1$$

$$\frac{3}{2} m_2 = -1$$

$$m_2 = -\frac{2}{3}$$

$$y - y_1 = m(x - x_1)$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

$$6y + 3 = -4x - 4$$

$$6y + 4x + 7 = 0$$

Equation of line of normal =  $6y + 4x + 7 = 0$

OMORAGIBON OSATURE FAVOUR

19/MHS01/344

4  $y = 1 + x - x^2$  at point  $(-2, -5)$

$$\frac{dy}{dx} = -2x + 1$$

$$\frac{dy}{dx} \Big|_{x=-2} = -2(-2) + 1 = 5$$

$$m = 5$$

$$y_1 = -5 \quad \text{and} \quad x_1 = -2$$

$$y - y_1 = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y + 5x - 5 = 0$$

∴ The equation of the line at tangent is  $y + 5x - 5 = 0$

$$m_1 m_2 = -1$$

$$5 m_2 = -1$$

$$m_2 = -\frac{1}{5}$$

$$y - y_1 = m(x - x_1)$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y + x + 27 = 0$$

∴ The equation of the line at normal is  $5y + x + 27 = 0$

OMORAGBON OSAFURE FAVOUR  
19/MHS01/344

5  $y = \frac{1}{x}$  at point  $(3, \frac{1}{3})$

$$\frac{dy}{dx} = -x^{-2}$$

$$\left. \frac{dy}{dx} \right|_{x=3} = -(3)^{-2} = -\frac{1}{9}$$

$$m = -\frac{1}{9}$$

$$y_1 = \frac{1}{3}$$

$$\text{and } x_1 = 3$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y + x - 6 = 0$$

∴ The equation of tangent =  $9y + x - 6 = 0$

$$m_1 m_2 = -1$$

$$-\frac{1}{9} m_2 = -1$$

$$m_2 = 9$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

$$3y - 1 = 27x - 81$$

$$3y - 27x + 80 = 0$$

∴ The equation of the normal =  $3y - 27x + 80 = 0$